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- IY{E(mean)NEXHEZZ

« mean(x, trim=0, na.rm=FALSE);
- HWEETEIYENITN = | trimZ1T&8159E8 ,
KiaxmimILUERIELF , na.rmiIRETRUE , T
FMBENABITEE |, IFHRESIE,

« x<-c(75,76, 77); mean(x)

[1] 76

. EX%/P%EBE , Mmean(x)1REIXEFERTE TTERAYE

e x<-1:12

« dim(x)=c(3,4)
mean(x)
[1] 6.5



« EEDHIREMRIITIIZ] , NERapply()2REL
« apply(x, 1, mean)

[1] 5.56.575

« apply(x, 2, mean)

1125811

- ExEdate frame, MIREIRYEZFIANSE
« mean(as.data.frame(x))

V1l V2 V3 V4
2 5 .8 11

- Rt ITHUERT AR BEIEENT L , 2F TR

HAEURAOALIE



w<-c(75, 64, 47.4,66.9, 62.2, 62.2, 58.7, 63.5,
66.6, 64,57, 69, 56.9, 50, 72)

w.mean <- mean(w, trim=0.1); w.mean

[11 62.53846

Erimﬁ%ﬂWEEO.l—O.SZl‘EU , LB IRIREXSISE
SR

LEIEITESEHMEENAR , ATLAN0na.rm3E4b 18

w.na<-c(75, 64, 47.4, 66.9, 62.2, 62.2, 58.2, 63.5,
66.6, 64,57, 69, 56.9, 50, 72, NA);

mean(w.na);

NA
w.na.mean<-mean(w.na, na.rm=TRUE);
[1] 62.36



o HEITEHIERIINNLY |, oJLAH
weighted.mean()&# , EEARH -
weighted.mean(x, w, na.rm=FALSE)

- HhwZ2EUExEINEZREL , HEHSXxER , EX
AiZ5mean()fHE , E—BXBIEIHES 2

weighted.mean(RERTEIEIE | BIEFRELIE
KERORTIR |, FVEFITAEMERORTIR | B |
R A4 BRI TS

o 5o, WREMFEIIFNFsum(x)/length(x),
sum()RVEIEZFOImeanzs{Ll , RAZRIE 2K



gt EsortONERRENT -

sort(x, partial=NULL, na.last=NA,
decreasing=FALSE, method=c("shell", "quick"),
index.return=FALSE)

- partial 2P HERRYEIRAE ; na.lastEIERRSE]
ERY , BEOMBEANA | JRAIERECEEE |, &
na.last=TRUE , NG HREHIEIIERSS ; decreasing
B R bERaIEE , BMABFALSERTIZMNEIK
BIFARFFHEED | BNFERFRHES ; method 2HEF I |
EVABER"shell"; index.returniRBIHEF Fin(RE
na.last=NAZ B L \Aindex.returniX1™N&3%) , BRAE
=FALSE , ZTRUE , iIR[EIINE—MIZER |, 5IFRAIE—
PN ESIXEHEFRINE , B PNTESixEHEFINFXS
MAY TFRE.,




x<-c(75, 64, 47.4, 66.9, 62.2, 62.2, 58.7, 63.5)
sort(x, decreasing=TRUE)

[1]75 66.9 64.0 63.5 62.2 62.2 58.7 47.4
FHIRY P EBERAENAR , ATLI0na.rm34LbE

x.na<-c(75, 64, 47.4, NA, 66.9, 62.2, 62.2, 58.7,
63.5)

sort(x.na);

[1] 47.4 58.7 62.2 62.2 63.5 64.0 66.9 75.0
sort(x.na, na.last=T)

[1147.4 58.7 62.2 62.2 63.5 64.0 66.9 75.0 NA

sort(x.na, na.last=F)
[1] NA 47.4 58.7 62.2 62.2 63.5 64.0 66.9 75.0



« x<-c(75, 64,474, 66.9, 62.2,62.2, 58.7, 63.5)
« sort(x, index.return=T)

$x

[1] 47.4 58.7 62.2 62.2 63.5 64.0 66.9 75.0

$ix

1137568241

« PR Emedian()BIEATEIN Y
« median(x, na.rm=FALSE)
« median(x.na)

[1] NA

median(x.na, na.rm=T)

[1] 62.85



- BEOHERTUEEGE |, BEUERMNIKRIIRF

HESIIS | Bp/ytusi , Enpetish , NANSEnpFISs
NPII—EEYFLS | BAnpARELL , BE[np]+1
AB T2
. HEESHERNESREquantile() , EAKEILHA
quantile(x, probs=seq(0,1,0.25), na.rm=FALSE,
names=TRUE, type=7, ...)
* probstaHBENAEZREL , BUAMBERE0, 0.25,
0.5, 0.75, 1 ; na.rmEIBRREEEEN |
na.rm=TRUERY , NAFINaNGMNEUEFBE | [
sEFEENATENaN , BRINIX—281 , &N
55 ; namesEATRUE |, IREHEZFHnames
XN type REUEL-9REEEY , I1F T M5
NEERERERNA B FaI—,



 w.quantile <- quantile(w); w.quantile

0% 25% 50% 75% 100%
47.40 57.85 6550 66.75 75.00
« attributes(w.quantile)

$names
[1] "0%" "25%" "50%" "75%" "100%"
« quantile(w, probs=seq(0,1, 0.2))

0% 20% 40% 60% 80% 100%
474 56.98 62.20 64.00 67.32 75.00



RIS

ZUBHID T EEERDHRE(p), BEREN(), D1
ENRREN(q) B =2 REATLEN ().

L‘)\IE%Q\%?E%WH . Zogy = qnorm(1-0.025, 0,1) =1.959964.
data<-rnorm(100, mean=0, sd=1);
dnorm(data, mean=0, sd=1, log=F);
pnorm(data, mean=0, sd=1, lower.tail
log.p=F);
pP<-c(0.975, 0.95)
gnorm(p, mean=0, sd=1, lower.tail=T, log.p=F);
[1] 1.959964 1.644854 # 0.05/2, 0.1/253112%




il R oy 48K BN sr g

beta beta shapel, shapeZ, ncp
binomial binom size, prob
Cauchy cauchy location, scale
chi-squared chisq df, ncp
exponential exp rate

F f dfl, df2, ncp
gamma, gamma shape, scale
geometric geom prob
hypergeometric hyper m, n, k
log-normal lnorm meanlog, sdlog
logistic logis location, scale
negative binomial nbinom size, prob
normal norm mean, sd
Poisson pois lambda
Student’s t t df, ncp
uniform unif min, max
Weibull welbull shape, scale
Wilcoxon wilcox m, n
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EAE. SRAHESQQE

cl<-read.table("chapter4-cl.txt", header=T);
FAhist)REAT LR HIE S E.,

histB9—RgFRiE A

hist(x, breaks="Sturges", freq=NULL,
probability=!freq,...)

breakfiE T EAERVAHEE(WNBSEURRSEE) ;
freq22EZE , TRUERIERESE , FALSER
ZEBRHE ; probabilityflfreqtBx , TRUEEZ:
EEHLE , FALSERIREREHE., Ets8iFIE
B35,



> hist(Weight)

Histogram of Weight

Freguency
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‘ E@fnSity()@éﬁﬂLlé%%U'—ﬁéﬁ ElfCERISEE
ITo

« densityfy—RgAIES :

« density(x, bw="nrd0", adjust=1,

kernel=c("gaussian”, "..."), window=kernel,
width...)

bwEm S , BMABRELEBE ; kernel 2%
PREY ; adjustREbrmsaadjust*bw, HEift
SEFENA .




« w<-c(75, 64,474, 66.9, 62.2, 62.2, 58.7,
63.5, 66.6, 64,57, 69, 56.9, 50, 72)

 hist(w, freq=F);

« w.density <- density(w); w.density

Call:
density.default(x = w)

Data: w (15 obs.);  Bandwidth 'bw' = 3.478
X y

Min. :36.97 Min. :9.044e-05

1st Qu.:49.08 1st Qu.:4.402e-03

Median :61.20 Median :1.603e-02

Mean :61.20 Mean :2.061le-02

3rd Qu.:73.32 3rd Qu.:3.409e-02

Max. :85.43 Max. :5.518e-02



 lines(w.density, col="blue");
e Xx<-44:76;
« lines(x, dnorm(x, mean(w), sd(w)), col="red" );

Histogram of w
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—RIE :

ecdf(x)

AEAERPEEZE DR , NIEplotERZy
plot(ecdf(x), ylab="Fn(x)", verticals=FALSE,
col.01lline="gray70")

verticals2i24535& , TRUERTFR/RE B |
HUAEEZ ; col.01llineZ0-1Z4/IENE.
plot(ecdf(w), verticals=TRUE, do.p=FALSE) ;
x<-44:78;

lines(x, pnorm(x, mean(w), sd(w)))



Fnix)

ecdf(w)




- QQEIRRREINHEAND hESIEIUTEMSS
el pagisl

» qqnorm()flqqline()f#t 7 BILEESQQEIFITEM
B YA

gqgnorm(y, ylim, xlab="", ylab=" ",

plot.it=TRUE, datax=FALSE)

plotitEiBtE2sE | TRUERHSARE K

dataxZRFFEAEERDA , FUAMERFALSE,

qqplot(x, y, plot.it=TRUE) ;

EEBxFly o iR AEE




qgnorm(w)
gqgline(w)

Sample Quantiles

Normal Q-Q Plot

Theoretical Quantiles



=MTE. AEENAZEE

o ZMEstem ()] AEECEE BETED VS,
« stem(W—RRAIER :

« > stem(x, scale=1, width=80, atom=1e-08)
- scaleiz®il T=ZMERHSE |, EWAMERL , 1R
scale=2 , MIFRTNIE0-91X10PMMIEL S BFRER |
0~4/—E% , 5~9/—E& ; widthELEBENNEE ;
atomBBE | —IREEENAERIT],




stem(x, scale=2)
The decimal point is 1 digit(s) to the right of the |
2|5
3]
3|
4 |
4|5
5|04
5|5
6|14
6|8
712
7| 5589
813444
815667999
90112
9|
10| 0



«  X<-c(25, 45, 50, 54, 55, 61, 64, 68, 72, 75, 75,
78,79,

81, 83, 84, 84, 84, 85, 86, 86, 87, 89,
89, 89, 90,

91, 91, 92, 100)
o stem(x);



The decimal point is 1 digit(s)
to the right of the |
2|5
3|
4|5
51045
6| 148
7| 25589
8134445667999
910112

1010



« stem(x, scale=0.5); # scaletBa]LA2/\& ,
Z£F0.507 , FIF0-9IXLOMMIEID B
1/28% , BN20MN0A—ER

The decimal point is 1 digit(s) to the right
of the |

5

5045

14825589
1344456679990112
10| 0

oo B~DN




flg'l;:i% boxplot() Bt EIMEE S T ESS
1L,

boxplot)B=FEXRIAHZE :

> boxplot(x, ...)

> boxplot(x, ..., range=1.5, width, varwidth,
notch=FALSE, outline=TRUE, ...,
horizontal=FALSE, add=FALSE, at=NULL)

> boxplot(formula, data, ..., subset,
na.action=NULL);



X BEUEIRRIEVERME ; rangelzilT “fhsim”
BOSEE (BAINEL.S) ; notch=TRUERY , f8&EBl+E
Y10 ; outlineEBiETE , TRUERIRHERER ;
horizontal 21848358 , TRUEE RIBRE&LE LS
IKAR (BAIAE AFALSE) ; add2%i83%5& , TRUE
Eiﬁr%&%’lt@ , BN EE—KEENANMES
RARE—ML , fomularT ; datafgl sy
NRAERRINIS ; subsetZRIESEL , AILUSER
S HIRIEUREFEE ; na.actionFRXINAZIE/ELL:
B B AEANULL , BPZEENAZIE.




A<-c(79.98, 80.04, 80.02, 80.04, 80.03, 80.03,
80.04, 79.97, 80.05, 80.03, 80.02, 80.00, 80.02);

7|39<9—§:)(80.02, 79.94, 79.98, 79.97, 80.03, 79.95,
béxplot(A, B, names=c("A", "B"), col=c("red",
"blue"));

boxplot(A, B, notch=T, outline=T,
names=c("A", "B"), col=c(3,5));



_ T _ _ _ T
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_ _ _ _ _ _
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 InsectSprays,;

« boxplot(count~spray, .
data=InsectSprays, col="lightgray")

« boxplot(count~spray,

data=InsectSprays, notch=T, col=2:7,
add=T)
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IESIEEE SR HIE

- BUEIMERIZNTE]. fEEENIMEINEE 7 #UER

nER  BELE. fKNomE. QQEEST
SRS MEREE RS , AIIASRZAHLIES
P TRIERIAIERE,

- AT, REFECHYMZREGIE , IXIRIAER

WMILEEHFET o , BEERMIESMERR.

- XERE RN AR IESIERINTA

Shapiro-Wilk W&3&F1Kolmogorov-Smirnov
2L b AT =Y WL



Shapiro-Wilk Wi£3&
(Zr, a~z‘-”?<i))2

il —7)?

W =

where

¢ X (with parentheses enclosing the subscript index i) is the th order statistic, i.e., the th-smallest number in the sample;
® X=(x1 + ...+ X)/ nis the sample mean;
o the constants a; are given by

m' V1
(mTV-1V-1m)1/2

(ai;aseyay) =

where
= gy mn)T
and my, ..., mp, are the expected values of the order statistics of independent and identically-distributed random variables sampled from the standard normal distribution,

and V' is the covariance matrix of those order statistics.

» ReifEAshapiro.test()REIRIRI %G5S , FERITSTU

shapiro.test(x)



PLEAB AR SRR TS, AW RSB —FEHNE.
B RRERER4A, BiH: https://d. book118. com/93601203301

1010132


https://d.book118.com/936012033011010132
https://d.book118.com/936012033011010132

